Metal Hinge

+ ®
HNG-A zmas w4
FHR THR * SR EBIMRE, o MR, REALE 0 rors
A A e BEFEERMNEIT. ERTEHAE. HNG-A
Ai A o NATEIE, AIREESHRERSHITER, T BESH
i i TR BREBER (R MEE)
H-—1 o o H—H N o s, e o 3 s ml;? %Qgﬁx SUSXM7
@ il & o IR 5 F RPN A IR Sk 248 (SUSXMT 41, 156 (BEHIHHES)
1 n (o) M1 n) IR IIRS (R BT).
@ o @ ©) FRIR LM RIARS (A SIT) R
Az | A3 Azl A 1.
tro [@IHIE] ro 1
H o H 8 1 »
. s - ‘ . oMo LR9O
- — = = I § 1RO
Ll |d|z el ld|:z .
Ci C1
WIREEA (N) *1
B
LRO LR9O LA
HNG-30-30-A 1200 750 500
HNG-40-40-A 2100 2000 1200
HNG-50-50-A 3500 2500 2100
HNG-60-60-A 6000 5000 3200
HNG-63-50-A 2600 1200 1500
HNG-76-50-A 3000 1300 1300
— HNG-90-60-A 4500 1400 1500
R HTHRIARSS i
= J] =
B £ A B A1 A2 A3 B1 C ci d H h1  h2 RE(g) iy HNG-120-60-A 4500 1500 1300
HNG-30-30-A patid 30 /30 18 |9 |9 18 107 [107 43 | 75|4 |45 | 20 Max 12 *1: ERIATATAEEER, FhRERNEROE.
HNG-40-40-A patid 40 |40 |25 125 (125 25 |16 |16 53 | 9 |5 |55 | 47 M5x 15
HNG-50-50-A TR 50 50 130 (15 |15 |30 |21 |21 64 |115|6 65 | 85 M6x 16
HNG-60-60-A paEid 60 60 (36 |18 |18 (36 26 |26 |83 |15 |8 |85 |173 M8 x 25
HNG-63-50-A Ax# | 63 |50 (43 15 |28 (30 21 |34 |63 |115|6 |65 |108 M6x16
HNG-76-50-A TR 76 |50 |56 |28 |28 (30 34 (34 63 (115 |6 |65 120 M6x 16
HNG-90-60-A Fx# | 90 |60 (63 18 |45 |36 26 |56 |84 |15 |8 |85 |256 M8 x 25
HNG-120-60-A SR 120 60 |90 |45 45 |36 |56 |56 |84 |15 8 |85 |346 M8x 25

o BSIEFE

‘HNG-30-30-A -‘SG

HNG-30-30-A-SG-P
| | %Bﬁ*ﬁw

ERBLHHIRS AN, HE-RESKREEm-P,

N\ NBK 0512-5290-1560 info@nbk1560-chn.com.cn https://www.nbk1560-chn.com.cn/ N\ NBK 0512-5290-1560 info@nbk1560-chn.com.cn https://www.nbk1560-chn.com.cn/



